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91. A person bought a pen and sold it for a loss of 10%. If he had bought it for 20% less and
sold it for T 44 more than earlier sale price he would have made a profit of 40%. The cost
price of the pen is (in )

25 028 28 Serdy) £ 0D 10% 2@t Jfword.edsd o Soran 20% S %
0% 83 dodd HEdb Jo Lam) 44 dr. DB JEawod) ol wIDE 40% oo

230, u Suo £ wbeh (e
(1) 200 (2) 225
(3 250 (4) 280

93. If an article is sold at a profit of 15% instead of a profit of 9% the person gets T 60 more.
The cost price of the article (in rupees) is

28 SRpgin 9% ergrd8 wilpEa 15% e erds e o B8R 60 dr. Mnb Epod,

o Bty § pbch (. ot
(1) 1200 (2) 1050
(3 1000 (4) 00

94. A and B started a business investing ¥ 10 lakhs and 7 15 lakhs respectively. After
6 months C joined them by investing ¥ 20 lakhs. If the profit at the ¢nd of the year is
1 5.6 lakhs, then the share of A in the profit (in lakhs of rupees) is

A, B w ot Sgdrord) omr 10 ofe &, 15 efe e wbvethed® rdofomdh.
6 Sve SBTE C ud agardod’ 20 vfe Viwdd Jovh. Doddyorodod I
5.6 vir Or orgiod A i (oo & oS

(1) 16 (2) 2.4
(3) 3.2 (4) 4.8

95. In a joint business A, B and C invested capital in the ratio 5 : 6 - & At the end of the
business they shared profits in the ratio 4 : 3 : 12."The ratio of the number of months in
which A, B and C kept, their capital is

&5 dupd avgartod” A, B, C e0 5:6: 8 !J;’.Dgtﬁ‘ R0 wawd e,
Tgroredod® ath crgrei 4: 31 12 WAL DoDE TG, A, B, C e Wfperbes
e Seo owge M3 e
(1) 2:1:3 2) 5:3:12
' (3) 8:5:15 (4) 25:18:16
' 16
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96.

100,

Pipe A fills a tank in & hours while pipe B empties the full tank in 10 hours. If bath the
pipes A and B are opened simultaneously the time taken (in hours) to fill the tank is

AW o8 880 8 roved’ Dodied. B 39 Jodd YD 10 dosved” wrb Tipod.
A, B God 3pur S0 807 §¢ Jododhd svheld Livabo (Hoved’)

{1y 33 (2} 36%
(3) 40 (4) 42

Two .pipa:s A and B can fill a tank in 10 hours and 15 hours respectively. If they are
opened altemately for one hour each and if A is opened first, the time (in hours) required
to fill the tank is

Sot PR A, B & o G2 Jowods DA™ 10 foves, 15 fokes uuabo
SoFotran. $ ToBo8S eiad S0S 5 (3 Koblr BHm WSO A WD
8% ¢ Dodo HE wabo (Hobed’)

(1) 10 2) 11
(3) 12 (4) 13

If a man starts at A and walks at 5 kmph he will reach B late by 7 minutes. But if walks at
6 kmph he will reach B early by 5 minutes, The distance between A and B (in km) is

&8 0l A wod pcheodd Kokt 5 &M s ﬁd"g 7 SRanares ur..-‘.'f.‘:ﬂun- B =
Ford. 570 vd% Kob% 6 8.0 JMom AN 5 FWw WoHTI B Idedd.
A, B & 9dg &rdo (3.ad. &&°

(1) 4 2) 5
(3) 6 @ 7

A train of 270 metres long crosses a platform of 390 metres length in 33 seconds. The
speed of the train (in kmph) is

270 &. &P Ko o8 Too 390 DY PEP Ko FEFTo B cPodH 33 V@
0ad geo o HobDH (Bad. o

(1) 66 (2) 68
(3) 72 @) 175

Three persons A, B, C together can complete a work in 8 days where as A alone requires
24 days to complete the same work. The number of days required for B and C together to
complete the same work is

E0ipt Hgihes A, B, C w0 Bod a8 DD 8 Sfared’ Ppg Jabiud. o0 A 25,08 oF

OO0 Yl Jhot® 24 Here DHSH0S. B, C w Sod of 100 o Tuok OF

Fhere Dowg
(1) 18 2y 16
(3) 12 @ 10

17 P.T.0b.
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101.

102,

103.

104.

105,

ISRW-13

A man completes %”‘ of the work in 1% days. The number of hours required to complete
the remaining work by him is

L6 DI T B0 1% Blarg bk 4 Sobedh, Dhe 43D LrodcsaDs gose

SE08 SHolh Hghd Hoge et
(1) & (2) 9
{3) 1 (4) 8

A circle is inscribed in an equilateral triangle. If the area of the circle is 462 em?, then the
perimeter (in cm) of the triangle is

a8 wawram ([@ibmod’ a8 Hydo ©080DoduaRe. Dyd Jwogo 462 $0.D.
eonanl |Bgbao Dnfed (o 2, wSh

(1y 72 (2) &4

(3) 96 @) 126

The area of a rectangular metal sheet is 60 sq.m. The sum of its length and diagonal is
equal to 5 times its breadth, Then the difference (in metres) between length and breadth is

BfSdrsdy o Y Hofo Irege 60 I oD ¥Po, SEYe Mo
Bde)S 5 by, sipth Y, ey Fdo (. v&h

(1) 4 (2) 5

@) o6 4 7

A cone of height 24 cm and radius of its base 6 cm is made up of clay. If that clay is
reshaped in the form of a sphere, then the diameter of that sphere (in CMS) 15

% 24 Ro.dd, 4 argdda 6 Lol m de o8 Foid) wo¥ DYE Jabudts. o)
ffysSom OO » Mo g0 (70.00. &Y

{1y 6 {(2) 8
(3) 12 (4) 14
The surface area of a sphere is same as the curved surface area of a right circular cylinder

whose height and diameter are 12 cm each. Then the radius of the sphere (in cm) is

WD, g gt 288 12 Vod. do ¥ o PRy DEde Ireorgns
RSO &8 KR 088w Brego dod. sl u K'Y g0 (Wo.b. egh

(n 3 (2) 4

(3) 5 (4) 6
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106. Let ‘s’ be the surface area of a cube of edee 9 em. This cube is cut into smaller cubes of

Sy (-

107.

108,

109,

110.

edge 3 cm each. If *S” is the sum of the surface arcas of all the smaller cubes, then s : § =
9 T0sd sod de of 550 audde grogo ‘s’ 3 Lodb woibed EOD UHSe
IR LTS LR R 4T £80oUaAn & iy f’-,nn'm;')luﬂ udde Srorge
dndo'S'wond s: S = '

(1) 3:1 (2) 1:3

(3 3:2 4y 2:3

The number of revolutions made by a wheel of 42 cm diameter in travelling a distance of
1320 metres is

1320 &g &rdo pardoddod® 42 od. aghom du SEo 3 DO o
vowg

(1) 300 (2) 400

(3) 500 (4) 1000

The radius r of a right circular cylinder is the same as that of a sphere. If the volume of the
sphere is twice that of the cylinder, then the height of the evlinder is

&8 Yo g argrdo r wd 2.8 ¢ Tgrgals Lirbo, o @k, {nEdH0tmeo
N0 BrhBEr e D8 B¢ody wand, ¢ Yo Jdb

2

m 3 @ 5
dr

3 3 4) 2

The digit in the units place of the number 1340 jg
mopg 1310 5% 5. 84 V%) wos

(1 4 2 3
() 2 (4) 1

If a* =k denotes that k is the remainder when 8a is divided by 7, then 100* =
a*=k &' kednlah 7 d grhodm By Ay DR, 100% =

Ay W
(1 1 (2) 2
(3) s 4) 6

19 P.T.0.
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(ii)

111.

112.

113.

114.

1SRW-13

Algebraic and Geometrical Ability ks : 30
ﬁi:ﬁ, H'-Ezhiim':r é‘bﬁﬁ (Marks =30

For two statements p, q, it is given that p — ({~p)vq) is falsc, then the truth values of p
and q are respectively
p. g & o® Jo [adaro Rowadod p = ((~p)vy) BB eV 3w, p,q v

CluE). Wdp Weonts DT

(1) ET (2) F,F 3) T.T (4) T.F
Let p, g be two statements. Then the statement (~p) v (p 4 q) is equivalent to
P. 4 =0 [Hhoreiy Fol. wilnpd ©HdS80 (~p) v (p A q) B8 Hego

(1) qep (2) p=gq (3) q=p 4 p=-gq

[fl=a=100and A = {a | gcd (a, 100) = 1}, then the number of elements in A is

1ﬂuﬁlﬂﬂ.h={al."iéﬂq:r'[a,1ﬂD}=1}uﬂm.ﬂu§‘;}i‘W¢E‘bﬁﬂﬁg
(1) 25 (2) 16 (3) 40 (4) 20

x ifxe Q
Let f{x) { l-x ifxeR-Q

where Q is the set of all rational numbers,

Then fis
fix) = [‘:_I E:E:LQ} TS

a8 Q sdddab wogrg D8, sl ol

(1) one-ome only (2) onto only
eg¥o sedd Hojtae dmed
* (3) one-one and onto (4) neither one-one nor onto
esae o, oM WIQER 2, Do S

115.

116.

Suppose A and B are two sets. Then a set, among the following, which is not equal to
A B, In general, 15

A, B w Both Debenl'od. drgrdmone (300 ov@d* A LB % o w0 208

(1) (A-B)u(B-A)w(ANB) (2) (A*nBY

(3} (A-B)uB (4 Au(B-A)

[fz‘thf.- lines 3x — ky + 4 = 0 and 4x + y + 2 = 0 arc perpendicular to each other, then
k- 12k + 4=
DE¥pes 3x-ky +4=0,dx +y+ 2= 0 o coworm @oB k2 - 12k +4 =

(1) O (2) 4 (3) 8 4y 12
20



WWWw.previouspapers.in

15RW-13 E
117. The length of the linc scgment intercepted between the axes by the line joining (6, - 4)
and (-3, 8) is
(6, - 4), (-3, 8) v 50D Fo Vrdorgre ey 20304, voddwodo DUY
(1) 4 {21 5 (3) 6 4y 7
118, sin 120° cos 60° cot 30° cosec?30° = ]
(1) o L(2) 3 3 -1 4) 3
5 S5sin@+4cosl
119, tan B = 12 = 2sinb+ 50050
7 80 e 3
() %5 @ 5 3) 3o @ 3
120, 4 cos B 5in’@ — 4 sin O cos’d =
(1) 0 {2}y 1 (3) sin 48 (4) —sindB
121. A pole subtends angles 30°, 45°, 60° respectively at points A, B and C all lying on a

122.

123.

124.

125.

AB
horizontal line through the foot of the pole. Then BC ™
2.8 fogo ovd 8o hoar Fd o8 §Ba el DoPw A, B, C o 2§ wom

AB
30°, 45°, 60° Ber oS tipind. vy 56

(1) ﬁ @ i<t @) (@) A3
Aoad +exi-dx+1=0(x20)
ﬁ_‘l‘+i=
s 3
3 @ 2 @ 3 L@ 3

If x = 7 is a factor of the polynomial fix), then ﬁ factor of f{2x% — 1) among the following is
wirond flx) & x-7 28 s 8oroDd 800 oS (27 - 1) H o sEerofo

(1) x-1 (2) x-2 (3) x+1 (4) x+2

The remainder obtained when 1! + 2! + 31 + ____ + (2014)! is divided by 7 is
114214 31+, + (2014)! 0 7 T greNod Hifyy Fo

() 3 (2) 4 (3) 5 (4 6
NG DG+ E+D 1=

(1) z(x?+5x+4d) (2) 2{x+5x+5)

(3) x(xf+5x+6) (4) (2 +6x+5)

21 P.T.O.
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126.

127.

128.

129,

130,

131,

132,

133.

134.

ISRW-13

The sum of seven consecutive even integers is s. Then, in terms of s, the greatest of these

inlegers is
b B 20 Yrgrosre Wwdo s. s Lard DI 0% Yrgroo
s+ 20 + 7 ; + )
e e @ =2 @ &2
The maximum value of the expression 2 + 8x — 2 ig
e 2 F - Hti'h:ﬁa, HB% Jesd
{1y 16 2y 17 (3) 18 (4) 19
b c d
a b= =@-cf+(c-bP+b-d)?-(d-ap=
(1 1 (2) 0 (3 -1 4) 2
The sum of first fifty odd natural numbers is
mﬁﬂ@‘ﬂﬁh%mﬁmmgh sinélo
(1) 2500 (2) 625 (3) 10000 4) 1600
k)
The cocfficient of +* in the expansion of [.ri -ﬁl) is
1 G
[E-F} Gy Dee® 43 Gog), foemso
(I} *c 2) -*c, (3 *c 4 -9,
The coefficient of middle term in the expansion of (1 + x)% 5
(142070 Gl Doded” ngfs o GE), Mhes¥o
1.3.5...39 '
() L2539 a u,gu.l..asr
21.22 .. 40 '
B). =S55— (4) 40! 2%
l 2 16 ]_[ a bl |
-E D o 'C.J ﬂ 'E"':Dq b{ﬂ
=Jdatbhtc=
(y 2 (2) =2 (3) 4 (4) 0
If A, B are two matrices such that AB =A,BA~B, thenAl+RB!=
Jodbwrid%w A Beo AB=A, BA=B wadetvod A7+ B2 =
(1) A+B (2) A-B (3) 2A+B (4) A+2B
) m P FTTT
jh_r::u ?T - :Ll.ﬁ.i'l.krr,
130 - "
(N = 2) T80 (3) 1 4y -l

22
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135. x=4fx+y ::s-%;':= _

(1) 1-x (2) 1+x

(3 1- (4) 2x-1
136. In a AABC, D, E, F are the mid points of the sides AB. BC and CA respectively. If

137,

138,

139.

140,

AB =8 cm, BC =15 ¢m and AC = 12 ¢m, then DE + EF + FD =
AABC &°0 ghares AB, BC, CA o &g Dotiyen S8 D, E, F eo. AB = 8 0.5,

BC = 15 70.20, AC = 12 0.4, wawinth DE + EF + FD =

(1) 16.5¢em (2) 17.5cm
16.5 70.aD. 17.5 oty
{(3) 25cm (4) 35cm
25 730.2D, 35 20d,

A, B, € arc three points on the circumference of a circle with centre O. If, in AABC.
£B = 60° and ZC = 70°, then £BOC =

So[o O n~ ¥8% 2.8 5)d BB A, B, C e 5urth Dotifeo. A ARC &° /B = 60°,
£C =70°, wond £BOC - |

(1y 100° (2) 120° (3) 90° (4) 8Q°

If P, Q. R, 5 arc the mid points of the sides of a quadrilateral ABCD, then the quadrilateral
PORS15a
L ﬁﬁ:ﬁ:ﬁﬁm ABCD &%2 éheres 5:::.‘;’:5 Dotiges P, Q, R, § eopd ﬁﬁ:ﬁ}aaa FQRS

wan oX

(1) Square (2) Parallelogram
whlo Pt fa) ﬁ-ﬁntﬁaﬂﬂ

(3) Rectangle (4) Rhombus
ﬁgﬁﬁ}ﬁ[{m :ﬁlﬁﬁl%ﬁﬂ

. . . _ . AC
The points A(3, -5) and B(-5, 4) are given. If C is a point such that °B = 2, then the
coordinates of C arc

Dodiges A(3,-5), B(-5,4) &0 angedna. C o Dodity g =32 ﬂlﬁg_ﬁnﬂﬂ C rdisve)

0B) @ @) o0 @

A (4,2), B (6, 5) and C (1, 4) are the vertices of a AABC. The median from A meets the
side BC at D, Then 2AD? = |
A4, 2), B(6, 5), C(1, 4) o a¥ (8¢bzo ABC Gln¥p ’Erg'-r.a. A o ‘-"ﬂu;'i-arié dw gheo

BC® D&% Scotpind. wiych 2AD? =
(1y 13 (2) 14 (3) 15 (4 16
21 F.T.0.
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(ili) Statistical Ability (Marks : 10)
Jrowgs i'ﬂ:ﬁggﬁ
141. The mean of the distribution given below is
|3o& derunok !:-:-n';ﬁ,g‘{"m

X 10520 | 20-30 | 30-40 | 40-50

Frequency
Wmu 5 10 7 ]

(1) 30 (2) 31
(3) 32 (4) 33

142. For a given data,if the mean is 60 and the mode is 66, then the median is
AL &8 SEroT8 WEgo 60, wriro¥so 66, wand agierido

(1 63 (2) 64
(3) 60 (d) 62

143. The mode of the following data is
(Eod SgromTrs erirotso

6,9,13,10,16,13,13, 14, 15, 11,13, 12, 14
(n n 2) 12
(3) 13 4y 14

144. If o is the standard deviation of x, x, ... x_, then the slandard deviation of 9 + 3x,
9+3xs, ..., 94 3xis
Xy Xp e Iy © [S50D0R0 0 wond, 9+ 3x,, 94 3xy, ., 9+ 3y, & (BD0DSedo

(1) 3o-3 (2) Jooi+3
(3) 3o 4) 3049
145. The vanance of first n even natural numbers is .
snddéd n waa fJ-D‘:.'-DIpE'{.I AL
2 2
n= = 1
m 5= @
nﬁ - I n: + 1
(3) 12 (4) _'_3_"'
146. The mean of first n odd natural numbers is
WwE n B Wre Vopge Bgtio
(M n-1 (2) n+1

(3) n+2 (4) n

24
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147,

148.

149,

150,

A number is selected at random from the first 80 natural numbers. The probability that it
15 divisihle by 4 or G is
w80 e oy wod ::ﬂ:-'d.}{)aﬁun- 2. Dopgo S 80w oyg 4 o doe

6 & Vylom erholthe Doy

23 29
) 55 @ %5

27 33
3) %o @ 30

Two fair dice are rolled. The probability that the sum of the numbers on the faces shown is
8 is

God i BE rdfud 0000 LD Ebod logge Wwéo 8 sHards
woarRed ;

5 1
(1) 3z @ ¢

1 .
() 3¢ @ 3

The probability that either of the events A and B to happen is 0.6 and the probability that
both of them to happen is 0.2. Then P(A") + P(B') =

(Here A’ is the complementary event of A.)

o A B off Q@0 w88 Logidodes Dogrngd 0.6, Todr Dogilovhe
Dogrbed 0.2. ey P(A) + P(B) = -

(RE8 A'GID &R A & Prigo)
(1) 04 @ 075
(3) 08 (4) 1.2

Suppose fix) =(x=2) (x = 3) (x-T).
If 8 number « is chosen from {1, 3, 4, 5, 6, 7, &, 9, 10} randomly, the probability that it
satisfies the equation f{o) = 0, is

) =(x-2)(x-5(x-7) s&od.
{1,3.4,5,6,7.8,9. 10} Wwod &8 Rowg o W alrd)Rysom F D08 ©b flu) =0
&yunod om ¢od wogrRgd

(1 (2)

) lad ad |
=1 [ SRR

(3) (4)

15 P.T.O.
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SECTION -C
Communication Ability

Questions : 50

151.

152,

153.

154,

155,

156.

157.

158,

159,

160.

PART -1

Choose the correct meaning for the word given :
radical

(1) extreme (2}  red

(3) colourful (4) slow

tether

(1) teeth (2) together

(3) restrain (4) free

SYNETEY

(13 combined size (2) joined effort

(3) related parts (4) organized finances
pervade

(1) conguer {(2) escape

(3) spread through (4) convince

nascent -

(1} smelly (2) fragrant

(}) immune (4) incipicnt

WHLLIIDS

(1) abandon (2) wacate

(3) unavailable (4) expressionless

Fill in the blank choosing the correct word :

The rains the fields, washing away the crops.

(1) stormed - (2)  inundated

(3} blew (4) covered

Due to the ongoing controversy the political sitwation in the state is
(1} upbeat (2) cosy

(3} turbulent {4} sublime

England was a greal power in the nineteenth century.,

(1) merchant (2} army

(3) mercantile (4) navy

The mule would not pull the farmer’s plow. s
(1) rigid (2) sturdy '
(3) rugged (4) stubbom

10

I15SRW-13

Marks : 50
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161.

162,

163.

164.

165,

166.

167.

168.

169.

170,

PART -1
Choose the correct answer :
The process of reviewing the performance of employees periodically is called
(1} performance management (2) employee review
(3) performance appraisal (4) employee confidential report

The interview conducted in a situation not quite pleasant or comfortable to the candidate is
called

{1} unstructured interview {2) . depth interview

(3) stress interview (4) distress interview

The medium of outdoor poster in which printed ad message is displayed is called
(1) cutouts (2) POP

(3)  exhibit (4)  bill board

A market which is dominated by a few suppliers is known as

(1) perfect market (2) buyer's market

(3) oligopoly market - (4) monopolist market

PERT is |

(1) Programme Evaluation and Review Technique
(2) Programme Education and Review Teaching
(3} Programme Enlightment and Review Technique
(4} Progress Evaluation and Review Timing

Whi-.:h. of the following is used for modulation and demodulation ?
(1) Modem (2) Protocols
(3) Gateway (4) Multiplexer

Linkage between CPU and users is provided by

(1) storage (2)  control unit

(3) penpheral devices (4) software

In a computer system, which device 13 functionally opposite of a keyboard ?
(1) mouse (2) track ball

(3) printer (4) pendrive

The first mechanical computer designed by Charles Babbage was called
(1) Abacus (2} Processor

(3) Calculator (4}  Analytical Engine
Which of the following 15 an example of non-volatile memory 7

(1) ROM (2) WVLSI

(3} LSI (4 RAM

27 P.T.0O.
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171.
172.

173,

174.

175.

176.

177,

178,

179.

180,

15RW-13
PART -3

Choosec the correct answer :
A . “There, that's what you looked like when you were a month old.™
B: “Howawful!™

In this conversation "B’ e :
(1} ispleased (2) is disappointed
(3)  is unhappy (4) thinks he looked ugly
A “Could | borrow some money from you 7
B: “What do you nced it tor 7"
The conversation implies that ‘B 1
(1) s dodging the ssue (2) 1s angry
(3) docs not want to give money (4) wants to know why ‘A" needs money
“It was a knockout. Umesh saw stars in his eyes.”
The speaker implies that Umesh. | _
(1) 1s exuberant (2) is romantic :
(3} 15 dreaming (4) has fallen unconscious
The active form of the sentence *e-mails have been written by her’ is
(1) she has written e-mails (2)  she had written e-mails
(3)  write e=mails to her (4) she sent e-mails
A “I've pot a new job!™
B: “Great ! that should open doors for you.”

‘B’ implies that
(1) ‘A’ can get more opportunities.  (2)  The job will be done outdoors.
(3)  The job will fetch a lot of money. (4) ‘A’ will be able to work well.
A “Therc is a lot of disunity among the people.”
B: |agree. Unity is the crying need of the hour.”

‘B" imphies that
(1} there is no need for uni ly among the people.
(2) there is an urgent need for unity among the people.
(}) a plan may be made for unhmwng umty '
(4}  unity may be achieved by crying for it, hour by hour.
A "l want to train mgm:]fm yoga practices.”
B: “lwanlio ﬁ-llnw 'illl[

‘B" imphes
(1) that he would En on a suit.
(2} that he would follow anyonc weanng a suit.
(3} that he would imitate *A”,
(4) that it does not suil his temperament to follow anyone.
Fill in the blanks with the appropriate phrudvtrhi’pr:pnsltlun i
Manish had a poor salary but he didn’t need much to o
(1) liveup (2) live on (3) live after {(4) livein
Anthony his wife to tell her that he would reach home latg, -
(1) calledup  (2) calledon  (3) called at ,.(d)  called away
He has to with the eccentricity of his boss, _ .
(1} puton (2) putup (3) put away (4) putin



WWW.previouspapers.in

15RW-13

181.

182,

183,

184,

. 185,

186.

187.

188.

189,

190,

Great people achieve what the others only dream .

(1) by (2} of (3 wit {4) out

She saved the child drowning.

(1) off (2) from (3) for (4) through

She'll be fearful that,

(1) on (2) of (3) with (4) to

Being very tired studying.

(1} impinges (2) impeaches (3) inhibits (4) inculcates

They cultivating the land for twenty years when they moved to the city.

(1) had been {2) arc (3 is (4) have been
PART-4

Read the following passage and answer questions 186-190 ; |

After two decades of growing student enrollments and economic prosperity,
business schools in the USA have started 1o face harder times. Only Havard's MBA
school has shown a substantial increase in enrollment in recent years, Both Princeton and
Stanford have seen decreases in their entrollments, Since 1990, the number of people
receiving MBA degrees has dropped about 3 percent to 75,000 and the trend of lower
enrollment rate 15 expected to continue.

There are two factors causing this decrease in students sccking MBA degree. The
first one is that many graduates of four year colleges are finding that an MBA degree
does not guarantee a plush job on Wall Street or in other financial districis of major
American cities. Many of the entry level management jobs are going to students
graduating with Master of Arts degrees in English and the humanities as well as those
holding MBA degrees. Students have asked the question, “Is an MBA degree really what |
need to be best prepared for getting a good job 7 The second major factor has been the
cutting of American payrolls and the lower number of entry-level jobs being offered.
Business needs are changing, and MBA schools are struggling to meet the new demands,

Which of the fellowing business schools has not shown a decrease in enrollment ?
(1} Prnnceton (2) Harvard (3) Stanford {4) Yale

What is the duration of an MBA degree ?
(1) 4 years (2) 3 ycars
(3) 2 years (4) not mentioned in the text
What arc the two causes of declining business school enrollments ?

1) Lack of necessity for an MBA and an economic recession,

2{ Low salary and toreign competition.

Declining population and low education standard.

(4) Fewer MBA schools and higher tuition fees.

Which are the degrees preferred along with MBA for entry-level management jobs 7
(1) Post Graduation in Linguistics

(2) Graduation in humanities

(3) Masters programme in Arts and Literature

(4) Master in English and Humanitics

What should be dome by business schools to change the situation ?
(1} Charge lower fee
(2} Examine the changing needs of husiness
(3) Change the curnculum
(4) Improve placement procedure
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Read the following passage and answer questions 191-195 ;

More businesses arc addressing social 1ssucs through philanthropy. Companics
donatc a portion of their revenues to charitics or a specific social cause. Education is
known to be the favourite object for philanthropy in which 75 percent of companies are
participating. Although the donations will help a good cause, many companies use
philanthropy primarily to improve their reputation or get a tax deduction. Philanthropy 1s
not limited to the mature markets in the West. In emerging markets philanthropy is even
more popular. Asia’s millionaires committed 12 percent of their wealth for social causes.
While millianaires in North America only contribute 8 percent and those in Europe
5 percent. :

Although philanthropy helps society, we should never over estimate itg socio-
cultural impact. Recent growth in philanthropy is driven by the changes in the society.
Even in a recession, 75 percent of Americans still donate to a social cause,

But philanthropy does not stimulate transformation in the society. Transformation in
the society dnves philanthropy. That is why addressing socal issues with plnlanthropic
activities will have a rather short-term impact.

A more advanced form of addressing social challenges is cause marketing — a
practice where companics support a specific cause through their marketing activities.

Why do companies set aside money in their budget for charities 7
(1} It helps to reduce their tax habilities.

(2) Pcople want to help others.

(3} Companics do not want to attract attention.

(4) [t makes people in the company happy.

What is the change that is coming about now 7
(1} Marketing has become casier.

(2) Companies have started earning more.
(3) There are more advertising companics.
(4) There is a growth in social awarencss.

What is the most favourite area for donations from companies 7
(1) Healthcare (2) Education
(3) Social Ethics {4) Public Relations

What according to the author, will have only a limited impact on the transformation of
society ?

{1} Philanthropy (2) Social change

(3) Recession (4) Marketing strategies

What is the main idea of this passage ?

(1} Philanthropy focuses only on education. MU LIy
(2) Western countries spend more than others on philanthropy. %
(3) Cause Marketing is a better form of marketing.

(4) Compames donate some part of their income to chanties.
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Read the following passage and answer questions 196-200 :

To many people growing old seems like the end game in chess : life winding down
in a series of small moves with lesser pieces. As | age, | have discovered this is not true. |
am not an elderly king stripped of my powers, reduced to a ragtail army of pawns. My life
15 not a defensive struggle of restricted oplions. Growing old is a game of verve and
imagination and excitement. The outcome is not now a matter of strength, although that
still remains, but of faith and courage, hope and wisdom. The aging game is a spon for
which childhood and youth and maturity are no more than a preparation. Its scope comes a
surprise. It expands my life al a time when | expected it to diminish. It demands an
excellence that no longer seemed necessary. It asks me to surpass what I did at the peak of

my powers. Age will not accept second best. In the aging game | must be all ever | was
and am yet to be. What has gone before is no more than a leaming penod. A breaking in.

Age ig the combat for which [ was trained. Now | must take this person [ have become and
make each new day special, 1 must make good on the promise of every dawn I am
privileged to see. Life goes from a minor to a major key. The game builds to a climax.
Every move assumes importance. One feels like a virtuoso, the gifts we have been given,
the powers that empower us, the marvels that make uws marvellous, are evident as never
before. The truth is that we have lost nothing. The problem i3 not that | am less than | was
when young, it is that [ am not more. It is past time to become my own person.

What does growing old mean 1o many people ?

(1} the end of the challenges (2) mental degeneration
(3) lack of activity (4) boredom -

What does aging mean to the author 7

(1) o benegative {2) 10 be positive

(3) 1o laze around (4) to be depressed

What should aging lead 10 7

(1} perfection (2) - death

(3} illness (4) a marvellous existence

Why is the "aging game" referred 1o as a “spont’ ?
(1) Old people play games.

(2) ©Old age makes one young in spint.

(3) Problems of old age have to be oveércome,
(4) Itis a game in which one loses or wins,

What does childhood and maturity prepare are for ?
(2) to face old age with hope and wisdom

(3) torestinold age
{(4) to be prepared for 1llness in old age
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